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a8
 b) 216
c) 36 AR
- d) None of these

ill) - For which distribution méah niedign’ &modoau same? |

a) Normal
b) Binomial
. ©) Poisson TR :
.d)mﬁm SRR : P

'iv) I the rv X has exponenﬂal distribiuticn with sarametsr

then the mean and variance are mﬁécﬁvély

1 ' 1 .
. a) —jand? .

)
b)) —and|—-1)|
’.4“:(4- )
RIS TR I
c) zancf-iz—
d) None of these o ,

v) 1f Xand Y are two independent variable then Cov(X,Y) is
a)o - o .
b) 1
c)2 ‘
d)Nqnu »

- vi)vuTyp;om?orrorwillooeugif -
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a) true H, is rejected .
b) true H, is accepted
c) faise H, Is rejected -
d) None

V) M X, Xy Xgperererairiineeron X, b the sample drawn from )
nomal populaﬁon With mean n am! standard deviation (s.d)
then the mximum likelihood Estimator (M.L.E) of 1 Is
a) samplo mean k o) population mean
‘ c) no. ofobnrvatlon d)Nonoofthese ,
vlll) What is me probabllny that a leap yodr wm con&ain 53
' Sundays? :
o aw
b) 27
€) 517 :
ﬂmono of then : _ ;
Ix) A box contains 6 white & 4 black balls. One ball is drawn at
random, the probabnuy thatitls biack Is... ;
‘a) 115 ' -
b) 35
€ a5
~ d) 218,

- x} Standard E_rror ofa sample proporﬁon under SstbR-is: . |

‘) ‘PQ -n
n YN-1.

PQ
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: c) " - B
v misymbodhawmud moanlngs

Xy mmammmlnmpm;muuu’ =
v probabﬁtyof ‘

a) accopﬂngatruonuuhypoﬂmil

b) agcopﬁngahkchuﬂhypoﬂ\ah o

_©) rejecting a true null hypothesis .
- dyNonsof these siternatives lscomrect.
'-‘onlychou‘lll.swhsuch,hmurchcrhndﬂn
Ll nmnbtrdpoophwl»ehouuehuhgoryofprogm.

' Howshouldﬂnyannlyummdch? T

a)T mt : o

b)om mmlysbofvuthn«

c)wn ’

 d) Chi - square test
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GROUPB,'

' ' ( Shoﬂ Answer Type Questions ) |

Anmr_any mofthnfol!owing - 3;5515 .

‘2 lna.hooﬂngeompoﬁﬂon.m.pmbablmyofammhithngmov
hmotbm,umnlusm.mthmoprobabllltyofmwng
thomgontloutm? -

-3 ‘Thopmbabllltyﬂnumnllr. pmmathom;ﬂcshm,‘ ,
" the Probabliity that he passes statistice is 4/9. If the probability.
- ~of passing At least one subject Is 4/5, mtbhmhbmmt

' ermumuboﬂlm:ubjm

4 My ndom ”‘""’" X fiss mend {1 and standard deviation o,
o showthat E(X #) 0 E(X #) ] -

‘ "E.}-ﬁ nmaom sample afuwmm of 100 students from a large
.~ -population of students is drawn. The average height of the ‘
g studonummoumpbus.sfmmn.sbho.rspgt.nndsssg_ e

- EsﬂmahObymomoﬂ\odofmuxhnumliwlhood
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GROUP C

( Long Answer Type Qua#tions )
Ansvm' any thrae of tha follomﬂ

A a) Tho probnblluy that A:hok can solve a problom Is :;'-. that *
Amolcansolvﬁi *;‘ ;ndmtAbdumnspmu ,3, Wall them
try lndopendenﬂy, ﬂnd ﬂnrprobubm& Mﬂ\é ‘inrobli“m wﬂl bo '

selvuq.

b) A and B an lndcpondont ewm M 1%4},

find P(A+B),P(A* B) and P(A‘B)

,P@1=- -

6)M1Mm&w’tﬂwmm .
s a)Thejolntprobablmy disﬁihuﬂonoftl‘n randomvarhblaxmdi o
Y is shown below: : | .
2 Joos  jo23 o o6
3 loas loso o 1020
6 = 108 010 o jo3s
Find . L R
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. N ommomm.mmfx
~ li) the conditional dbtr!butlon of Y
) the prgbubulq P{X+Y>E) .- .
b) I X Is a random variable then. provo that V(ax+b)=a’+V(X)

c) X is a discrete random varlablo having Pmbabmty mass L
“function:

X: 0 4 23 45 8 7

P 2k 2k 3k W 2 7k=+k
nmmtm mﬁnﬂt‘ @,Find PQ(<6) ‘
: ﬂ e+4+5
9. a) The probahllity densny function (p d n of a undom varlw is
, ’st(x-z) (3.x), 2$X$3, '_" o
Find '

(1) the value of constant k. (u) the c. cmm) P(xssm avw(x zsq;.: 5

b} Tho marks ohhmod in coruln _examination- foliow normal
" distribution -with mean -45 and standard deviation 10. If 1000
. studeiits appeared at the examination, calculate the number of
_«—otndonts scoring ()] l,ss thln 40 marks and (Ii) more than 40
- marks. ‘ »

847 .

* 10, &) The length of life X (in hours ) of a certain meﬁonieeomm
h‘-’assum‘ed. to fom'w‘v a continuous distribution with density
functlon f(x) - (IOOOsxSiSOO) ‘

| Determine the constant ‘k’ and find lhe probabillty that a

component selechd at -random will functlon for at least 1200
hours. _

b) KT and P be ‘two statistics wlth p:xpechtlonsfem = 2.o1+3.92v
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andE(P)=0 +0, ﬂndmﬁanaummmfhpdmme,"ﬁ
0 : :
-

c) Write short nom on random nmpltng md non random

11. a) The followlng ﬁgum sham tho distrlbuﬁon of d!gm n
numbers chosen atnndomfromatalcphmducbq

. dighs: 0 1 2 '3 4 8
’hquoncy-ms 1107 097 966 1075 933
‘digits: 6 ;,“;7! g e Total
frequency: 1107 972 964 © 853 NG00 T T
“Test whether the dlgnmay be taken wdccur oi;uauy frequontly

{ib)UseNoyman-Punonlemmabobhlnﬂnbutcrltlmlndon ‘
H, :0=0 against H, :3=@>0 mﬁucauofmonmlpopul.uon. s
NWU’).MO"I:MM - o
S BeT
2041
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